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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) 28in’ g equals:- (A) 1+ Cos 6 (B) 1 —-Cos@ (O) 1+ Sin6 (D)1 - Siné
2
(2)  The period of Cot 8x is:- (A« (B) 87 ©) z (D) 27z
8
abc abc 4abc 4A
3 With usual notations, R = A) — B) — C D) —
3) usu i ()4A ()A ()A ()abc
V3 1 V3 1
4)  The value of Sec| Sin™' — |= A) — B) 2 C) — D) —
“4) [ in" = (A) 5 (B) ©) 5 (D) 7
1 T Sm - Sr - -5m T 2r
5 If Sinx=—, then x = A) —, — B) —, — C) —,—— D) —, —
() 5 ()66 ()66 ()6 6 ()33
(6) If n is prime number, then Jn isi-
(A) Rational (B) Irrational (C) Prime number (D) Complex number
(7)  If A€ iscomplement ofaset A, then AN A isequalto:- (A) 4 (B) 4° (U (D) ¢
(8) IfG= {1, -1,i,—i } 1s a group under multiplication, then inverse of —i is:-
(A)1l (B) -1 €) i (D) —i
9) If order of a matrix 4 is m x n and order of B is n x p, then order of 4B is:-
(A) mxn B)ymxp (C) pxm D)ynxp
1 0
(10) is:- (A) Null matrix  (B) Identity matrix (C) Diagonal matrix (D) Scalar matrix
0 0
(11)  For ax*> + bx + ¢ =0, if b* —4ac <0, then roots are:-
(A) Real (B) Imaginary (C) Equal (D) Rational
(12) Equation 2* —32" +32=0, is equation.
(A) Reciprocal (B) Radical (C) Exponential (D) Linear
2
(13)  Partial fraction of x is of the form:-
(x -1 ) (x +1 )
(A)1+ A N B (B) A N B (C)1+A)§+B (D)Ax+B+ C
x-1 x+1 x-1 x+1 x° =1 x -1 x+1
< nin+1 n{n+1)(2n+1 n{n+1l)(n+2 n(n+1))
k=1 2 6 6 2
(15) No term of geometric sequence can be:- A0 B1 (C2 (D) 3
(16) If S issample space and E is an event, then:-
AY0o<P(E)<l @B)-1<P(E)<l (C)0<P(E)<1 ((D)-1<P(E)<1
(17) If A and B are independent events, then P( ANB ) =
(A) P(4)+P(B) B) P(4)-P(B) (C)P(4).P(B) (D) P(4)+P(B)-P(4NB)
(18) If n is even, then middle term in the expansion of (a + x )" is:-
n n n n+1
A)| —+1 |th B)| —-1|th C) —th D th
()2 ()(2 j ()2 ()[2j
3 4 5 n+2
(19) + + +————+ equals:-
3 3 3 3
A) n+3 B) n+4 © n+4 D) n+3
3 3 2 4
(20)  The area of the sector of circular region of radius » is given by:-
(A) 0 (B) 2r%6 (C) %rzﬁ (D) %rzﬁ
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